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1.

Where was Praja Mandal first established in
Rajasthan?

TS o yomieer wadwaw ww w@riua e
ma?
(a) SEEYAlwar

()" @V Bharatpur

(b) ST /Jaipur
(d) I=1/Boondi (a)

- Konkani is related to Goa, similarly Dogri is

related to

HHlt waitka & ar /, T v SRt Wt
-

(a) Assam/3799 §

(b) Himachal Pradesh/fewm=e w1 4

(c) Sikkim/Tafewa |

(d) Jammu/s/g | (d)

- Taragarh Fort of Ajmer is also known by which

other name

TR & ARG T @ R ot wma | oft @
T 872

(a) Chitrakoot/fs%2  (b) Garhbeethli/z Htasht
(c) Meharangarh/%&T+T (d) Katargarh/#2/0g (b)

- How many forts are credited to Maharana

Kumbha

FEWUT FH{FAT St [t e ot Prafor =7 sv Ry
rar & ?

(a) 25 (b) 39 (c) 32 (d)30 (o)

. From which place did the publication of

newspapers in Rajasthan start?

TSR ¥ WA’ W o e e e a
WY g3 ?

(a) Jodhpur/SieR (b) Udaipur/33agR

(c) Ajmer/3TSTR (d)Alwar/3TaR. (a)
The animals shown in the national emblem
(royal emblem) of India are

WG & T vt ¥ R i uyy §
(a) ™, fexor, &me, <@ (b) i, @is, W, e
() ¥R, T, <, o (d) s, T, e, e ()
In which religious sect is fire dance practiced ?
Torm arfites wugra § a1 =1 = weem £ 2
(a) Nath/a14 (b) Laldasi/&Terrdt

(c) Vishnoi/faeg (d) Jashnath/S/Eeft (d)
He was the first Speaker of the Lok Sabha
FIHOHT & Td Vg9 3eAw 4

(a) Hukum Singh/g%A fd®
(b) M.A. Aiyangar/TA.Q, 34T

(c) G.V. Mavalnkar/Sf. &t 5raeiet

(d) N.Sanjeev Reddy/uA.d5fa F1 ()

. The book written by A.P.J. Abdul Kalam js

TR, ge wem g i g ¢

(a) 959 3fean

(b) =fn ufg=" - ¢ 5 ¢ Sei=w

(c) 9% T3 AT

(d) fagr= < @z (b)

. Which indian state was not included in the

Fisheries Association?

form vt Tom = wem wu o wfinfem T R
™ ?

(a) Jaipur/SIqT
(c) Bharatpur/saqX

(b) Alwar/31&1aR
(d) Dholpur/ﬂ:lag’{ (a)

- When did the naval mutiny take place in British

India ?

fafew wrw # < e @ afem e

(a) 1946 (b) 1944

(c) 1933 (d) 1942 (a)

- Select the correct option -

gt fawew @ s =it -

Assam : Bihu :: Kerala : ?2/3m89m : fag :: #t@ 2
(a) Kathhak/s s

(b) Kuchipudi/afaget

(c) Bharatnatyam/sRaareay

(d) Kathkali/sFeereit (d)

. Who is the winner of World Billiard

Championship 2012

a2 faferad Sfaafira 2012 @ farsrar @ 82
(a) Pankaj Adwani/9%s1 strear

(b) Husain Wafai/g8 TwTé

() Aadtiya Mehta/anifzer Azan
(d) Thawat/=ma (a)

- Nihal Chand is related to which painting style

of Rajasthan?
e o Towam @ few famaen deft @
Heifm 7

(2) Boondi/g=t
(¢) Mewar/¥ars

(b) Kishangarh/f&¥1771é
(d) Marwarh/A1@1E  (b)
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15. Which of the following porters is not a 'part of

16.

17.

18.

19.

20.

21.

Five Forces/ frefafaa & @ wim @ ‘ﬁ'i‘!-‘f wES

WA & e @ -

(a) Buyers Power/aard dra

(b) Competition Beetween compititiors/39cisy
Fridled & wen wfowwl

(c) Customer Power/JT&® SfeRi

(d) Fear of New competition/‘lﬁ gfaAfmE 1 941 (c)

Who is the producer of TV show Satyamev Jayate?

21 . I AewE FEd & WS & }7

(a) Amir Khan/3TfR @™

(b) Salmaan Khan/9&HME @H

(c) Shahrukh Khan/RTe®@ @

(d) Saif Ali Khan/Q%s3Tet @™ (a)

From which incident did the civil disobedience
movement start

form e & Afema tawT AT WRW g3t ?
(a) Bardoli Satyagrah/sTRiclt TcmE

(b) Jaliyawala Baagh/Sferaiaren ST eciehis

(c) Rowlet act/Aee T

(d) Daandi March/g10gt A1

Which folk deity belongs to Kolu village?
T W I IaET i) Ma F daifa & 2
(a) Paabu Ji/arg_ sft (b) Ramdev Ji/A3a it

(c) Teja Ji/asn <t (d) Goga Ji/fMAI St (a)
Who was awarded the Meera Award for 2011-
2012 by the Rajasthan Sahitya Akademi?

(d)

AT GIig ShIeH RT 2011-2012 & HWRT
R ¥ Rl wunfa fear Tan?

(a) SHY AR SxfEar (b)) fea=s fmfe,

(c) TAfdE qfee (d) sf=eht g (d)

Delhi-Mumbai Industrial Corridor project is
being set up in partnership with ?

Tfeeett- warg s niferarr afteiern feraait
Wrftert § werrfua o s @ € 2

(a) India - Japan/9R@ - <9

(b) India - Switerzeland/9Ra - fEseivs

(¢) India- USA/YRG -GgaFasg 2THfhT

(d) India - France/sTd ~ W (a)
When was the Resolution passed by the
Rajasthan Legislative Assembly to establish a
Legislative Council in Rajasthan?

TSR faar v g Terem ¥ s uiteg
iU & & foe deanea wa urie fawar a2
(a) 18 April 2010 (b) 18 April 2013

(c) 18 April 2012 (d) 18 April 2011 (c)

22.

23.

24.

25.

26.

27.

28.

Which constitutional amendment included free
and compulsory education of children (6 to 14
years) in the original rights?

Tora wfeam detas & gro === (6 & 14 ad)
@ g ol stfrard fram @ g st ¥
witafera ferar wan?

(a) 7681  (b) 42&  (c) 759 (d) 86i(d)
If the seventh day of the month is three days
before Friday, then which day will be the

nineteenth day of the month?

afe wfe i W i e @ W9 e gl
A gaT A @ SEEar f@ @ | i e
(a) Sunday/AfaaR (b) Monday/@rFarR

(c) Wednesday/g¥aR (d) Friday/3[shalR (a)
Tennis is related to court, similarly boiing is
related__ ?

e wefta @ 12 ¥, 36 e anfoan dataa
3 ?
(a) Ring/f1 &

(b) Pool/ga1 ¥
(¢) Course/ad 9 (d) Arina/TfAT A (a)
Choose the correct option -
et fawea @ =Ew W -
Flower : Bud :: Plant :? / qs9 : Shfeteht :: U&Y ; ?
(a) Fruit/®e (b) Seed/stst
(¢) Branch/2g= (d) leaf/afaat (b)

Which of the following indicates father-son
relationship

e % | e faeren frar-ga Regfing =
shra o €

@M:1 b)M : M
)1 : M (d) None/a®I3 =&t (©)
Each of the six players participating in a chess

competition will play one match with each other
player. Tell us how many matches will be played
in the entire competition-

Teh =9 Ui § AT & @ ©: Raenfesai 4 )
T faerdl vl o= faedt & Wi uw e
QR wart T wiaafir # fpas = @ s

(2) 30 (b) 36
()15 (d) 12 (c)
In a family there is a man, his wife, their four

sons and their wives. Each is survived by three
sons and a daughter. The total number of male
members in this whole family is —
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29.

30.

31.

32.

33.

e AR § T e, IEE Ul IR 9 IH
we S it €1 wew & aRar # /i O qur
e Gt ot 81 3@ @ uiar # W aEE o g
wE&m §-

(a) 4 (b) 8 () 15 @17 (@)
A and B are brothers, C and D are sisters- A's
son is D's brother- How is B related to C?
AT BWE T, CaD &&Y §) A W AT D & AR
£1 & wardl B @ C ¥ ¥ €&y

(a) Brother/+is (b) Father/faat

(¢) Uncle/3Tshat (d) Grand Father/S=I (¢)
How many times will the clock be at the right

angle between 2 pm and 10 am?

T 2 X W 10 TN B s v F gE Fewerd

AR T8 T W
(a) 12 (b) 16 () 15 (dy14 (d)
When the time in the clock is 25 minutes left to

8 o'clock, then indicate the angle shown by the
hour hand and the minute hand in degrees-
o St ¥ gug 8 avw ¥ 25 e @ € A SE
aag gu2 # g8 ue e @t g3 g feey T
wtor feit & sy

(a) 22.5 (b) 20 (c) 17.5 (d) 12.5(¢)
A student solved twice as many wrong questions
as he could- If he solved a total of 48 questions,

how many questions did he solve correctly?
e BT ¥ fad wEt wew g« 6 IS T e
woT T fedn afy Sed me 48 UV & fRe A
Ty fray wvAl @ wE g TR ?

(a) 12 (b) 18 (c) 16 (d) 24 (c)
Layer 4 firewall (device that can see all protocol
headers up to the transport layer) cannot do

which of the following?

T 4 wTAvEt ( Fearda < T AW 9w &

it e ¥ @ 3@ wadt ¢ ) Prefafaa 9

¥ & A& H Ahdl?

(a) Preventing all ICMP traffic/ast smsdiuadr fFs
! TRl

(b) Stopping all HTTP traffic from 9 pmto 5 am /G901
THAA 2fFE H UMW 9 I ¥ gEE 5 &
Yl

(c) Do not allow traffic to come from an IP address

but let it go to that address./fwdt EH wSE |/
Mpr i TE I A fhg 39 @H W IH R

34

35S.

36.

37.

38.

39.

(d) Stopping any one user in TCP traffic from 9 pm

to 5 am in multiuser system/FeeIgsR fa=n o
frdt ww gor 1 9t few | wH 9 WS R/
gaeE 5 9§ & TRl (b)
Which flavor of network address translation can
be used when multiple users can connect to the

global internet with the same IP address?

Jead U9 THAVA W BAA FTAA wW A
forar T WEAT & 9E TS € TEd USW W wF

o TS FEE W FAaE € ?

(a) NAT (b) Dynamic
(c) Static (d) PAT (d)
TDM H-

(a) Several signals are sent over a channel in a time
slotted mode/@E Tdl ! Th o7 W TH T4
wide His § 991 S 2

(b) A signal is sent to multiple users/Teh dhd H
STt @ fog Se S 2

(c) Several signals are sent simultaneously over

different channels/&s Tahd 3T el W T

[ 95 94 2

(d)577 Hants TET (a)
How many 5's are there in the following

sequence which are immediately followed by 3

but not immediately preceded by 7 -
Prerferfas orpRa ¥ & e s § faa 3w

3 § afE 3t wgd 7 T -
89053253855687335775365335738
(a) One (b) Two (c) Three (d)Four(a)

If 73 (in base x number system) is equal to 115
(in base y number system), the possible values

of x and y are

Tfer 73 (SMT x W&AT WOIedt § ) 115 (W& y
HE qunelt ¥ ) @ SNreR €, At x & wwrfad wH
(@) 16, 10 (b) 16, 8 (c) 16, 2 (d) 8,10 (2)

Find the missing term in the following series *
Preafefas siEen ¥ @ U A9 Hife:

10000, 11000, 9900, 10890, 9801 ?

(a) 10929 (b) 10781

(c) 10241 (d) 10423 (b)

Choose the missing terms out of the given
alternatives -

o o fyemeal ¥ | @ w2 IFT-
ABD, DGK, HMS, MTB, SBL, ?

(a) ZAB  (b) XKW  (¢) ZKW

(d)ZKU (c)

—
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40. Choose the missing term out of the given

alternatives

fer u fawedt ® @ @ ug g

U B, 1LLP,W,?

{a) Z (b)F (©)D @Q (o

41.Xf D = 4, and COVER = 63, then BASIS = ?

gfg D = 4, 30T 3mawur = 63, @ 30U = ?

(a) 55 (b) 49 (c) 50 @54 (o)
42. If3 +9 = 31; 15 + 12 = 45; 18 + 9 = 36, then

12 + 27 = ?

(a) 14 (b) 53 (c) 94 @49 (c)
43. Which fraction comes next in the sequence :

ITHA W TN H A Fa= e §

172, 3/4, 5/8, 7/16 ?

(@ 932 (b) W0/17 (c) 1235 (d) 1134 (a)
44.0, 6, 28, 60, 120, 210; .. wocis

(a) 336 (b) 240 (c) 504 (d)290 (a)
45.1If1 *2=32,4 *3 =712,4* 7= 1128, then 5 *

1=2?

(a) 65 (b)64 (c) 63 (d)66 (a)

46. If Z= 52 and ACT = 48, then BAT will be equal

to

gfgZ = 52 3T ACT = 48 ¥, &t BAT v
ST EE?

(a) 41 (b) 46 (c) 44 (d)39 (b)
47.1f3 + 5= 16; 7 +9= 64; 10 + 12 = 121, then 11

+3=7?

(a) 49 (b) 196 (c) 48 (d)56 (a)
48. 840, 168, 42, 14, 7,

(a)3 (b) 1 (©)9 d7 @

49. The missing letters in following sequence in the

correct order are which among the following
alternatives ?

Trefafas w0 o w8t #n ¥ a5 Feafafes
fFm T a=xA A E?
a_bbc_aab _cca bbcc
(a) acba (b) abba

(c) caba (d) bacb(a)

50. Choose the correct alternative that will continue

the same pattern and replace the question mark
in the given series

wd faeen g St @um w@En = S @

3t & T gjmen ¥ ww fog W e wm w
ufaeafya svm? 1, 9, 25, 49, ?, 121

(a)91 (b) 64 (c) 81 (d) 100 (c)

51.

52.

53.

54.

§S.

56.

57.
for bank cheques ?

58.

The missing letters in following sequence in the
correct order are which among the following
alternatives-

Freafaiaa wa ® aft 70 ¥ @ s frafafea
e daasmaE?

abca_bcaab ca bbc .

(a) ccaa (b) abac (c) abba (d) bbaa(b)
Where was India's first computer installed and
when?

WA & UET Il Fgl AN Fa wrfua fwar
T 4ar?

{(a) Indian Institute of Science, Bangalore, 1953

(b) Indian Institute of Technology, Delhi, 1961

(c) Indian Statistical Institute, Calcutta, 1955
(d) Indian Institute of Technology, Delhi, 1951 (c)

Microsoft word is a part of which of following?
AT 92 Frafataa ¥ 4 feoe o femn
Y4

(a) Microsoft Publisher
(c) Microsoft Access

(b) Microsoft Office
(d) Microsoft Windows (b)

RAM can store AW ©T FT dahell &-
(a) Only data (b) Only operating system
(c) Programs and data  (d) Only programs (c)

Which one is NOT a web browser?
HIA AT AT FSH AT &2

(a) Safari (b) Foxpro
(c) Opera (d) Mozilla
Graphics for word processor

EER I R

(a) Execute (b) Peripheral
(c)Clip art (d) Highlight (c)
Which of the following techniques is best suited

(®)

Frefafaa ¥ @ @0 @ ois 8% 9= = fag

oY 39 &7

(a) Optical Character Recognition

(b) Optical Mark Recognition

(c) BAR Code Recognition

(d) Magnetic Ink Character Recognition

A bootstrap is/T% LRI T -

(2) A device to support the computer/ FZ H1 FHE
1 & fou & 5w |

(b) An error correction technique/T& Ff2 GUR Tt

(c) A small initialization program to start up a computer/
FIR TE A # AU TF o IRI9S FHHH

(d) A memory device/T% FuId fearw (c)

(d)



https://rajasthanclasses.in/category/latest-post/

§9. E-mails you receive appear in :
TR W T aret §-Aet fraw feard 2w €72
(a) Inbox (b) Sent mails
(c) Messengers (d) Contacts (a)
60. What is an intersection of a row and a column?
T T 3R T wieW o FTRRE T R?
(a) Cell (b) Cursor
(c) Form (d) Record (a)
61. Which views in Power Point 2007 can be used
to enter Speaker Comments?
e fewfitat g5t & & e wre) @rEe 2007
% for faemt &1 swm fawan o wewar £2
(a) Normal Only
(b) Notes Page view only
(c) Normal - Slide Sorter
(d) Normal - Notes Page view (d)
62. Which of the following is not a document view?
Frefafaa ¥ ¥ S @ TwRdw g == 2
(a) Print Layout view (b) Normal View
(c) Web Layout view (d) Work View
63. What do you mean by a Excel Workspace?
TR ThET ¥ 3T 0 Taers §?

(a) Group of Rows (b) Group of Worksheets
(¢) Group of Workbooks (d) Group of Columns (c)

64. Arithmetic calculations are done by :
AHFTTOTHT T foRmeh gRT Wt Wt 87
(a) ALU (b) Registers
(¢) Control unit (d) Memory unit (a)
65. Which of the following security mechanism is
used by Network ?
Freafafea o & fra e @3 & suan Seas
g fawam <rar 872

(d)

(a) HTTP (b) Gopher

(¢) Fire wall (d) None of these  (c¢)
66. RJ45 UTP cable has _cables

RS 45 AUt Balet ¥ _cables T 2-

(a) 2 Pair (b)4 Pair (c) 5 Pair  (d)3 Pair(b)

67. How many OSI layers are covered in the X.25
standard ?

X.25 AR ¥ farait OSI ud ynfer 72
(a) Two (b) Three
(c) Six (d) Seven (b)

68. The arranging of data in a logical sequence is called
Alieheh THA W 2T St ST Sl T gl ST &2
(a) Sorting (b) Searching
(c¢) Classification (d) Logic Summary (a)

69. Identify the class of the following IPv4 add rea.:,j;
froafafaa 1Pv4 w@ & =t &t gg=ma &t |
229.1.2.3A

(a) A (b) B (c) C dD ()
Which of the following is a category found iy
Custom Animation in MS Power Point 20072
THTH el Wige 2007 W wvew Uhmer ¥ urg
A= arett sioft Frefafea § @ @ ot §2

(a) Design Templates (b) Transition _
(c) Entrance (d) Master Slide (c)
What is the address given to a computer °
connected to a network called ?

THTH Irel W1EE 2007 ® &Eew Uf@em o ui
WM arett soft frefafeaa ¥ @ @ 6 ]2

(a) System Address (b) Process ID

(c) IP Address (d) SYSID (¢)

Which of the following is a shortcut key for
"Save as" ?

Trefafaa o @ w9 @1 "Save as" & fow we
JIieehe Hait -

(a) Fl (b) FS (c) F10 (d)F12 (d)
In which menu do you find the option to wrap
text in a cell of MS Excel 2007 ?

Tor® B W TR THUE TSR 2007 & e W

70.

1.

72

T

SHE wrap 1 fasrey faemar 22
(a) Home (b) Insert
(c) Formula (d) Review (a)

74. The name before '@’ in E-mail address is called:

-0 Ud W '@' W U T AW HET ST
(a) Domain (b) Range
(¢) User ID (d) None of these  (c)

Which menu keeps the Goal Seek command in
MS Excel 2007 ?

THTH TR 2007 ¥ Wi 61 A et Uieh HHS
T 87 A
(a) Home (b) Insert

(c) Formula (d) None of these  (d)
The operating system that allows multiple |

programs to run at same time is ?
ArafeT Reew <t te € wua ¥ wd wrEt @l
T I AP < €

(a) Batch processing (b) Multithreading

(c) Multitasking (d) Real time (c)
Which company developed the quick time format?
g St 3 @fta w99 s (Quick time format)
faenfaa ferar 22

(a) Microsoft

(c) SUN Microsystems

5.

76.

T2

(b) Apple
(d) IBM (b)

el
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79.

80.

81.

82.

83.

84.

8s.

78. The simultaneous transmission of data to a

number of stations is known as

#E YA W 327 & Uah WY W0 F fH59 w9
¥ ST AT §7?

(a) Aloha (b) Analog transmission
(¢) Bandwidth (d) Broad cast (d)
Maximum range of zooming a screen in MS

Word 2007?

MS &8 2007 ¥ ek ThIT JH &IA @ framay
|r?

(a) 100 percent (b) 200 percent

(c) 400 percent (d) None of thesc  (d)

A protocol used to control the secure sending
of data on the internet is

322 T 2T & Wi Awor ot Frifa e @

o1 swar ferar s aren WetE £

(a) TCP/IP (b) HTTPS

(¢) SMTP (d) HTTP (b)
Digital signature cannot provide ___ for the
message-

fefsee Txtam vam =& & et Wwr &
ety

(a) Authentication (b) Nonrepudiation

(c) Confidentiality (d) Integrity (©)

In MS PowerPoint, to insert new slide in the
current Presentation, we can choose

TUE dEidise #, Sda wefa § 48 wge

wftmfoa &3 & foau, 79 97 goa €
(a) Ctrl + M (b) Ctrl + O
(c) Ctrl + F (d) Ctrl + N (a)

In Power Point Ellipse Motion is a predefined

TR @Tge Sy Wive § U getiia 8
(a) Color Scheme (b) Design Template

(¢) Animation Scheme  (d) None of these  (¢)
What will be the decimal equivalent of the binary

number (111011.101), given in base 2
U 2 ® <t e fgewuardt w=&w (111011.101)

& IS WA w1 B

(a) 59.875 (b) 59.625

(c) 59.750 (d) 59.487 (b)
Which protocol does DHCP use at the Transport

layer?

ZIAAE ST 9T DHCP 5T Wereiar & Suam

HIAr 87
(a) 1P {(b) UDP
(¢) TCP (d) ARP (b)

86.

87.

88.

89.

90.

91.

92.

93

A digital signature is ____

T fefvem gamge &

(a) Scanned signature

(b) Handwritten signature

(¢) Encrypting information

(d) Signature in binary form

Data integrity refers to

2T FEEAT Wl Haia WA €
(a) Accuracy (b) Security
(c) Centralization (d)Non Duplication (a)
ASCII stands for :

TuEHRIEes W e 2

(a) American Standard Computer for Indian Institutes

(b) Australian Standard Computers for Indian
Institutes

{c)American Standard Code for Information
Interchange

(d) Australian Standard ( >de for Information
Interchange (c)

In MS PowerPoint 2007, to open an existing

presentation, press

THUH UraRdize 2007 ¥, HiEr wla @em &
ferw, game

fa) Ctrl + N

(c)Ctrl + O

GIGO stands for
SrTESIal =T oo &
(a) Garbage input Garbage output

(b) Garbage in Garbage out

(¢) General in General out

(d) None of these (b)
Which of the following scales a picture from its
original size ?

Frefefaa & @ = a1 foF o 9o e &
et &It 82

(a) Relative to original picture size

(b) Horizontal and Vertical alignment

(c) Lock aspect ratio

(d) Rotation

What is the port number for NNTP ?
TSR @ forw 9 Faw w4 87

(a) 70 (b) 79 (c)80(d) 119
The internet uses which protocol ?
Feriz T Wieienlel T SUEI iar §7
(a) TCP/IP (b) CSMA

(c) S-25 (d) None of these

(©)

(b)Ctrl +A

(d)Ctrl+L (c)

(a)

(d)

(a)
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94. Which menu option can be used to split windows
into two parts in MS Office 2007 ?

uwuw BNifew 2007 ¥ favsrw @ & W A
fawifra & & fog fem o famew &1 @@
T s wear ¥7

(a) Review - > Window-> Split

(b) Page Layout-> Split

(c) Review - > Split

(d) View - > Split (d)
In MS Excel, a numeric value can be treated as
a label value if precedes it

THUH TS §, Ta S8l U &l o ae 91 &

9s.

W WA S WAt € At TR I

(a) Hash (#) (b) Tilde (~)

(¢) Apostrophe (") (d) Exclamation (!) (c¢)
96. How long is an IPv6 address :

IPv6 Tar -

(a) 32 bits {(b) 64 bits

(c) 128 bits (d) 128 bytes (c)
97. Mouse is a/HT3® U& &:

(a) Input/output device  (b) Input device

{¢) Output device (d) None of these  (b)

98. The basic architecture of computer was first

developed by

FGLT W A gl Ggell AW fHas g
Tawfaa =t € =17

(a) Blais Pascal {b) Garden Moore

(c) Charles Babbage (d) John Von Neuman (d)
The hexadecimal representation of the binary
number (110101111) given in base 2 is

g 2 ¥ &t g fgsmard @@ (110101111)
=1 gaarefane wfafafa= = £7
(a) D71 (b) D78 (c) IAF  (d)32F (c)
100. HTML and XML are markup languages :
HTML 3T XML W&3 9ree §-

(a) Specially development for the web
(b) Independent of SGML
(c) Are versions of SGML

99.

Y
103. In office XP, "Ruler" for top and left margin is
available in which menu ?

Hifwa XP &, vird 38w and wifsi= & e "Rujer

fq o ¥ Iuere 2
(a) Home (b) View
(c) Insert (d) Review

(b)
104. Maximum number of columns in a worksheet

of Excel 2007 has :
Excel 2007 & fardt asviie ¥ wiem 3t arfy

Haq @& ¢

(a) 2048 (b) 256

(c) 1024 (d) None of these (d)
10S. Icon used to change screen saver in contro)

panel is :

Fraaor &3 ¥ whA ¥ET aged & T Iuam
fear 9 aren 3meEs €

(a) System Setting (b) Regional setting

(¢) Add Program (d) Display (d)
Header and Footer option in MS Word 2007
is present in which menu :

THCH I 2007 ¥ Header 30T Footer foay

106.

form o & g £2

(a) Home {b) Formula

(¢) View (d) None of these  (d)
107.Which of the following is a shortcut key for

"Spelling and Grammar" :

Frefofaa § ¥ = o ad  oin =@ @

fou = widwe =5 2-

(a) F1 (b)F5 (c) F7 (d)F12(c)

108.Software which converts a program into
assembly language, is called
wiezaar @t fedt wum @ ewmett wrar ¥
uitafda = &, 38 wer 9 #-
(a) Interpreter (b) Assembler
(¢) Compiler (d) Loader
109. Full form of MPEG is :
MPEG &t quf ®q #:
(a) Moving Picture Expert Group

(b)

(d) Are l?ased 9“ SGML (d) (b) Moving Picture Extra Generation
101. Modem is a/ATSw T&h 2: (c) Moving Power External Group
(a) Software (b) Hardware (d) Motion Power External Group . (l‘:)
(¢) CPU (d) All of these (b) | 110. In which manner can we arrange icons in h¢
102. Which of The following is not a database MS Explorer? a
Object? TH MS TaNERT ¥ EaT & fwE @
Freafafas ¥ & a9 W S2Ew e = 7 safer w7 TE ¥
(a) Tables (b) Reports (a) By name (b) By size @
(¢) Queries (d) Relationships (d (c) By type (d) All of these
oS

.
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111. CPU stands for :

112.

113.

114.

118.

116.

117.

118.

iy & 3 ;-
(a) Central Power Unit
(b) Core Processing Unit

(c) Central Processing Unit

(d) Central Protection Unit (c)
F1 key is used for :

F1 st & fom war fwar wmar #-

(a) View (b) Print

(c) Help (d) None of these  (¢)

Which objects are used to create a form in
MS Access?

THTH T ¥ T o= @ e e sifsdtaem
@ 3TART foRar srar 2

(a) Queries and reports (b) Tables and reports
(c) Tables and Queries (d) Tables only (c)
Which of these are wild card characters?
FH A B T ages wrE qul §7

@[ {} (b)*,/

(©?2* (d) All of these
Microsoft Access is a

TSI T T §

(a) RDBMS

(b) Network Database Model

(c) OODBMS

(d) ORDBMS (a)
Which piece of hardware protects the
resources of a private network from users of
other networks?

TSR T S T THI 3 Each & STARThARI
¥ Foft Yeaa & darEEl St @ i 82
(a) Router (b) Firewall

(c) Cache server (d) Proxy server
MODEM word is made from:

ey NE ] & %:

(a) Modulation, Rough modulation

(b) Modulation, Demodulation

(c) Modulation, Defination

(d) None of these (b)
A File which contains readymade styles that

can be used for a presentation is called

T v e YEme dfeat o § R
Iw wegfa @ fow feer s o €, @
T §- '
(@) Pre formatting
(c) Auto Style

©)

(b)

(b) Template

(d) Wizard (b)

119.

120.

121.

122.

What is the default subnet mask for a class C
network?

FH C Feaa & o fewiee werte ares =
2?2
(a) 255.0.0.0 (6)255.255.255.0

(c) 127.0.0.1 (d)255.255.0.0 (b)
How many different numbers may be

represented by 4 bits?
4 foem gro feeeet eremr-atemt el =t gutar
AT HhaT §7?

(a) 16 (b)8 (©) 12 d4 (a)
Which key on the keyboard takes us to the
beginning of the line?

FEE W A o H TN o 3 ywena §
A T 87

(a) Esc Key

(c) Home Key
LCD stands for :
TerdE @ e -
(a) Liquid Crystal Display
(b) Lithium Crystal Display
(c) Light Color Display

(d) Liquid Color Display

(b) Tab Key

(d) Back Space (c)

(a)

123.Which of the following is an example of

124.

125.

Automatic Text formatting?

Frafafas & @ =9 @ @=nfaa e @w g
(Automatic Text formatting) T TH IITEIOT
22

(2) Replacing two hyphens(-) with single hyphen(-)

(b) Underlining Hyperlink
(c) Adjusting extra space
(d) All of these (d)
Chief component of first generation computer

was

TqH Gidt & ST & TS Teh a1 917
(a) Large Size Integrated Circuits

(b) Vacuum Tubes and Valves

(c) Integrated Circuits

(d) Transistors (b)
The name of table which indicates logical

operations of Boolean expression is :

T T AW A G HAF S AR Tishare

(a) False table (b) Truth table
(c) Logical table (d) None of these  (b)
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126. Which type of advertisement appears on a web
page?
A% A9 W Frm war @ fawae e 3@ 7
(a) Banner-ad (b) Pop-up ad
(c) Pop-under ad (d) Discount-ad (a & b)
127. Which segment do eBay, Amazon.com, and
LandsEnd4.com belong ?

eBay, Amazon.com iR LandsEnd.com @&

ws ¥ et 87

(a) C2Bs ~ (b) B2Bs

(c) B2Cs (d) C2Cs (c)
128. A diagram of an algorithm is called :

TR & JNW Tl FHgl ST &

(a) Subroutine (b) Procedure

(c) Flow chart (d) Programme (c)

129. Which area in an Excel window allows entering
values and formulas?
TR oS 3 e W & geat of gt o
A W AA T 772
(a) Menu Bar (b) Title Bar

(¢) Formula Bar (d) Standard Tool Bar(c)
130. Which of the following is secondary memory

device :

frefataa & @ == ar fgdas T feaea &
(a) Keyboard (b) Disk

(c) ALU (d) All of these (b)
131. A hexa decimal number 'AO' has the decimal

value

Teh 3T S9THCTE W8T 'AQ' o 2910 0 &

(a) 160 (b) 80

(c) 100 (d) 256 (a)
132.Modes of communication are :

?ﬁﬂﬂ'ig'ﬂfh%”ﬁz

(a) Simplex (b) Duplex

(c) Half Duplex (d) All of these (d)
133.A formula in Excel starts with :

TR ¥ T T WS a8

(@) : (b) ; (c) - @- (o
134. In MS Excel, getting data from a cell located

in a different sheet is called

THUH TS H, Ush 37 vite o ftua ¥« | =1
(a) Accessing (b) Functioning

(c) Referencing (d) Updating (c)
What will be the hexadecimal equivalent of
decimal number 54977

138.

136.

137.

138.

139.

140.

141.

142.

143.

—~=

IS WA 54977 & TaTaner wnqew wyy
Tm?

(@) D6C5 (b)D6C1  (c) DC61 (d) None (b)
Which of the following is NOT a Microsof
Internet tool or technol

FeafafEad aam ar ttrsaﬁmne e Ty
dehiles @l 87
(a) Expression Web (b) Silverlight

(c) Internet Explorer  (d) Dreamweaver (d)
What part of 192.168.10.51 is the Network ID,
assuming a default subnet mask?

fewice wave @ wrw U, 1921681051

& B W e Jeaa e #2

(a) 51 (b) 192.168.10
(c) 0.0.0.5 (d) 192 (b) |
In which menu 'drop cap' option is used m

MS Word 2007?
THUE 92 2007 ¥ fRm A A ‘gia S’ ﬁar«u

=1 Sya ferar s #2
(a) Home (b) Insert
(c) Review (d) Reference (b)

Which computer virus records every
movement you make on your computer?

#mmmmwwmf
g1 T U ulw Inidew = i s §7

(a) DOS
(c) Trapper

(b) Malware Android

(d) Key logger (d)

Which of the following is not a component of |

relational database

mﬁ%ﬂwmmmw

ueH T 2
(a) Table (b) Attribute .'
(c) Hierarchy (d) Entity ()

In MS Access, which of the following creates |.

a drop down list of values to choose from?

THUH TaRE H, ﬁwﬁrﬂaaﬁﬁaﬁwwqﬁ%

T W st giT ST gt s 872
(a) OLE Object (b) Lookup Wizard !
(c) Memo (d) Hyperlink (b) |

Which technique is preferable for transferring
a large amount of data to and from a memory
in a short time?

w0 T ¥ AEH | St " § 22 wmmﬁﬂ
= B foe @ @ aade dga 87

(a) DMA (b) programmed I/O

(c) Interrupt driven /O (d) None of these ~ (3)
To permanently delete a file or folder from

m—
_——-—m

1.IA|_
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the computer, we use

HeT ¥ fordt wizer a1 wiest =t W w0 @

e & &, ' sy e §

(a) Enter + Delete (b) Ctrl + Delete

(c) Shift + Delete (d) Alt + Delete
144. Which of the following is not a network?

Fefafas ¥ ¥ = a1 Seas =& £2

(a) WAN (b) LAN
145. Which of the following are part of the

segments of e-commerce ?

Freafafea 4 9 o w §-=md @ @S =

fewr 32

(©)

(a) B2C (b) C2B

(c) B2B (d) All of these (d)
146. Norton's Anti Virus is:

ATeT & T aras 1

(a) Virus (b) Vaccine

(c) Antidote (d) None of these (b,c)

147.The value of binary 1111 is

T 1111 T W == &7

(a) 16 (b) 7

(c) 15 (d) None of these (<)

Which of the following gives best graphical

output?

Trefafaa & ¥ @9 @ 99d 3=sT mivwe

EEYE T 272

(a) Plotter (b) Laser Printer

(c) Dot matrix printer  (d) Daisy wheel Printer (a)

The Internet Control Message Protocol

Fevie Frur Gl e (SndHTTd)

(a) Reports error conditions to the original source./
oo o & forg 3fe vl =t fol s

(b) The source must relate errors to individual
application programsch/&id =t safsTa
TReeE W & 3 @ getE g e

(¢) Provides communication between the Internet
Protocol Software on one machine and the
Internet Protocol Software on another/T& HeiH
W I WEEE GReam IR # @ §ER
UM HE € TR W 3T WeHid Qeeadt

(d) All of these (d)

150. The product of two binary numbers 1011 and
1001 is

3 fgemard Wit 1011 8% 1001 &1 PEESA
= 3?
(a) 1100011
(c) 1010100
151 Linux is a type of

148.

149.

(b) 100100
(d) 000100

software

(a)

(c) XAN (d) MAN (c¢).

v @ e s wieedar §
(a) Application (b) Open Source (c)
Adware

(d) Compiler (b)
152.In MS Excel, how do You rearrange the data in

ascending or descending order?

THUH T o, 319 R o amﬁﬁ = o 22T
ah A redatiaa w £
(a) Data, Form (b) Data, Table
(c) Data, Sort (d) Data, Subtotal
153.An audit trail/Ts 3¥fee 2o -
(a) Is the recorded history of operations performed
on a file/TF e W fFu T guweE w1 faie
foan man sfoera 2

(b) Can be used to restore lost information/@rs g3

IHHR & B W 5 fou 9w fear .
el ©

(c) Is used to make backup copies/d%319 wfaai
T % oy swm fea s

(d) Is the same as redo log/qg @M & TUH (a)
When the compiler cannot differentiate
between two overloaded constructors, they
are called

TS Wehoteh of TauTia FZaell & o 3w
T H THA &, A I heET W §

(a) Destructed (b) Ambiguous

(c) Dubious (d) Overloaded (b)
What is the short cut key to highlight the

entire column in MS Excel 2007 ?

THUH TEE 2007 o Q¥ FicH Hl FEEE T

& fore wiid we st @ §7

(a) Ctrl + Space Bar  (b) Ctrl + Page Up

(c) Ctrl + Enter (d)Ctrl +C

Tracks and sectors are related to

2o ol Aad ¥ wefva §

(a) Hard disk (b) Mouse

(c) Printer (d) All of these

1 Kilobyte is equal to bytes

1 freitarge & SER gew R

(a) 1024 (b) 1048 (c) 1000 (d) 100 (a)

158.The Database Language to create the structure
of a Database is
FodE FF T N & oy ST W
(a) DDL (b) DCL '
(c) DML (d) DOL (a)

159. Octal number system contains :

(©)

154.

15S.

(a)

156.

(a)
157.

[
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et e worel ¥ ynfier €
(a) Seven digits from 0 to 6

(b) Nine digits from 0 to 8

(c) Eight digits from 1 to 9

(d) None of these d

160. If the left as well as right side of the paragraph

161.

162.

163.

164.

16S.

166.

167.

168.

are aligned it is called

Tfg oo @ = ik T ol wifwa ferar
War ¢ A IR wET oer €

(a) Left Right Aligned (b) Centre Aligned
(c) Right Left Aligned (d) Justified

Which key cannot have duplicate values?
frw ot ¥ gherae 7 & ¥ wwa?

(a) Index Key (b) Primary Key

(c) Foreign Key (d) Super Key

Web pages are stored in

g yBi ¥ WU o ®© §:

(a) Client (b) Server (¢) Modem (d) Router
ISP stands for/a'ﬂ'g@'ft &1 e %:

(a) Internet Service Provider

(b) Internet Secondary Point

(c) Instruction Service Provider

(d) Information Service Provider

Internet uses/3eTAC & ITANT &HIAT & -
(a) Circuit switching

(b) Telex switching

(c) Telephone switching

(d) Packet switching

The M in HTML stands for :

HTML & M @& 39 2:

(a) Machine (b) Mark up

(c) Modeling (d) Margin (b)
Which of the following TCP/IP protocols are
used for transferring electronic mail messages
from one machine to another?

Frefataa ¥ ¥ 69 TCP/IP WiRtaia &1 3T
T Bet Gl WTaRd & & fag
foran W € U welt ® gRA weie?

(a) FTP (b) SMTP

(c) SNMP (d) RPC

O.M.R. stands for : /30 UH.3R. & 34 ¢:

(a) Optical Mark Reader

(b) Optical Magnetic Reader

(c) Object Mark Reader

(d) Object Magnetic Reader (a)
What router command allows you to determine

(d)

(b)

(b)

(2)

(d

(b)

169. Which of the following is not a font style?

170.

171. What can greatly reduce TCP/IP configuration

172.Which of these is considered a replacement

173.

174.

178.

=
whether an IP access list is enabled on 3
particular interface?

T I FHE AU a8 Fruifm w0 o)

srufa 31 ¢ R fndlt fadie @ et warg
geit agw ¢ ar @ ?

(a) Show access-lists interface
(b) Show ip interface

(c) Show access-lists

(d) Show ip port (b)
Freafafaa ¥ @ a9 @1 wiw defit 7 §2

(a) Bold (b) Border

(c) Italic (d) Underline (b)
In MS Excel which of the following functions
will use to find the highest number in a series
of numbers ?

T TRA ¥ Frafafeas § @ @ wam
fora @ ¥ W 9 @ 9@ A @ o
IUGRT FH/IM?
(a) high(B1:B5)
(c) max(B1:B5)

(b) highest(B1:B5)
(d) maximum(B1:B5)(¢)

problems?

TCP/IP SR AR o qgd &0 &
R 7

(a) PDC (b) DHCP Server

(c) WINS Server (d) WINS Proxy (b)

for serial and parallel ports?

T A R armarfw ol wuiaR 9 @
wfeares W wrar 87

(a) USB Port (b) PS2 Port

(¢) SCSI Port (d) LPT 1 Port (a)
Excel displays the current cell address in the

q—;?mifaﬁttnﬁamua&fam%

(a) Title Bar (b) Name Box

(c) Status Bar (d) Formula bar (b)
Which of the following is a search engine?
frefafaa ¥ ¥ 9w @ 3o 27

(a) Yahoo (b) Rediff

(c) MSN (d) All of these d

A database management system (DBMS) is a:
UF 3TAW wsET woreRt ( DBMS ) & #:

(a) Hardware system used to create, maintain, and

e
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provide uncontrolled access to a database
rRTEaTR fown &1 I9g SRy 99N, sH e @
3R st Tge e w0 @ for fear s 2
(b) Hardware system used to create, maintain, and
provide controlled access to a database/gTSaaR
foen &1 I9Em Semy ¥ [, I9Y W@ SR
et g9 W’ w3\ & fow fean s 2
(¢) Software system used to create, maintain, and
provide controlled access to a database/SF2aaR
faeq =1 ST Semy T R, T @ ek
et g9 w"m w6 # fou fem s 3
(d) Software system used to create, maintain, and
provide uncontrolled access to a database/SiFaR
foen *1 IEm Somg s R, U @@ sk
SAfEEE 98 W"H w6 & fo fem s 21 ()
176.We can take internet service by :
(a) Dial up & Leased line (b) Leased line
(c) Dial up (d) None of these
Function overloading happens at
TR JETATET W Erar &
(a) Compile Time (b) Linking Time
(¢) Run Time (d) None of the these(a)
178. Sign used in email address are :
e a9 | wgem 9EE = E
(a) @ and, (b) #and . (c) @ and . (d) # and . (c¢)
179. What is the maximum character length of a
field name in MS Access 2007 ?
THUH THIE 2007 H Wies AW @i fekan qof

()
177.

e w22

(a) 60 (b) 64

(c) 68 (d) None of these  (b)
180.Which of the following is India's first

Supercomputer?

Prafafga & ¥ @M W 9RA & 9En g

HEET 77

(a) PARAM (b) SAGA 220

(c) CRAY (d) EKA (a)

181. For each instruction of program in memory

the CPU goes through a :

it ¥ v @ v e & fag 9idig o=
& WreAw | oel W §

(a) fetch — execute — decode sequence

(b) decode — fetch — execute sequence

(c) execute — store — decode sequence
(d) fetch — decode — execute sequence

(d)

182. In circuit switching/@f&z fafeam o

(a) Transmission path is set before data transfer/
TEEYE 9y 2 WA | ysd 92 fmw @
(b) Dedicated communication link is not required/
wufda §9R fo® #1 smavasa T &

(c) Data is stored at intermediate nodes/221 HEIEd!
HEd W |uEa foan s @

(d) None of these/s7H ¥ &g & (a)
Gigabit Ethernet has a data rate of _ Mbps
(a) 100 (b) 1000 (c) 10 (d)10000 (b)
184.Which of the following is a sequential access

183.

device

Frefefaa # & S a1 R 1w Syt §

(a) Floppy Disk (b) Magnetic Tape

(c) Optical Disk (d) Hard Disk (b)
185. Shortcut key used to repeat the last action in

MS Office 2007 is

THTH Office 2007 ¥ 3ifaw foram =t g &

fore SuErT & 9T ATl widwe & §

(ayF6 (b)F4 (c) F2 (d)F8 (b)
186. Which of the following will not protect you from

spam?

Frrorfafaa § @ =M aent @ | =@ s=mTmn?

(a) Filters (b) Popup blocker

(c) E-mail rules (d) Spam blockers (b)
187. Container tag is /@A %:

(a) <BR> (b) <HR>

(c) <B> & <I> (d) None of these ()

188. In MS Excel, Comments put in cells are called

THUH T U, e § grent 8 fewfurat @ wa

ST B
(a) Smart Tip (b) Soft Tip
(c)Cell Tip (d) Web Tip (¢)

189. Scroll Lock key is a :/&hicI oiieh %ol Tk ¢:
(a) Cursor control key (b) Function key

(c) Numeric Key (d) Toggle Key (d)
190. What is the full form of D.T.P.?

R @ wS wiH F 2?2

(a) Desk Top Publishing (b) Desk Top Paper

(c) Desk Top Package (d) None of these (a)

191. Which tag creates a number/ordered list?
a1 3 T e/ /FREE et a §7

(a) <OL> (b) <UL>
(c) <DL> (d) All of the above (a)
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192. The property/properties of a database is/are | 196. In a 'C' program, constant is defined

Ferdw W WA/ §R: e Wi §, Reis @ aftafea fwan
(a) Data stored in a database is independent of the T

application programs using it/Sed H HIEId (1) After main/q&3 & ]

22 THHT TN FW T TershyH W o (b) Before main/J&4 ¥ T&d

=dT 2 (c) Anywhere, but starting on a new line/ael o,
(b) It consolidates separate files into a common qAfeh TH T A WS

pool of data records/7E 221 f&IE & T TH=I (d) None of these/&TH | 1 &l (b)

I ¥ STeNT-3TeRT HIEE 1 TR 3 197.Which of the following C statement is
! . . . tactically correct?
(c) It is an integrated collection of logically related syntactica 'y

records/Ig difsher &9 ¥ Yafyua i€ =1 Z;}j?a?q a C W(m;ﬁq A WE 7
THIFd °IE 21 1) i)

| (c) for (); (d) for (.); (a)
(d) All of these/3 Wi (d) | 198. If the two strings are identical, then stremp( )
193. Inventor of 'C' language is

function returns/afe & @ WU ¢, @
\C' WTHT & ATTSheh B

TEEterETEdt () waer e
(a) L-Bark (b) C- Cannon (a) 1 (b) -1 (c)0

(c) James Haward (d) Dennis Ritchie  (d)
194. Which one of the following is invalid variable
name in C language ?

(d)'Y'" (¢
199. The rule for implicit type conversion in C is
ot ¥ fafga we wuiaror & T fam s 272

(a) unsigned< int <double< float

Frafafiaa ¥ § @ 0 C 9 ¥ 37 =) W™ (b) int<unsigned<double<float
.&7 (¢) unsigned< int <float<double
) (d) int<unsigned<float<double (d)
?‘i :::;;me Egg g:ﬁName (ay | 200- The value of j at the end of the exccution of
c ame ame a

the following C program is int iner (int i) static
195 What is the following ? extern int i_

int count = 0; count = count+i; return(count)

Frafafea =r 87 tae+ g2 ond; main () inti,j_for (i=0_ i<=4_i++) j= incr(i)_
(a) Declaration & Definition/SITooT 3R T Frefafaa o wam & o & Hd § s
(b) Declaration/Sison is int iner (int i) static int count = 0; count =
(©) Definition/sRsrdn count+i; return(count); main () inti, j; for
(d) None of these/zTH | I3 7&l (b) (i=0; i<=4;i++) j= incr(i);

(a) 10 (b)6

(c)4 d)7  (a)

T T e e 1
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